BLUE POTTERY BOWL



Blue Pottery Bowl

MRSP: \$20

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 3 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Bowl

MRSP: \$25

- Sample Price: \$18 each (Min. 1 units) → \$18 total
- Bulk Price: \$18 each (Min. 500 units) → \$9000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 4 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Bowl

MRSP: \$30

- Sample Price: \$21 each (Min. 1 units) → \$21 total
- Bulk Price: \$21 each (Min. 500 units) → \$10,500 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 5 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Blue Pottery Bowl

MRSP: \$40

- Sample Price: \$24 each (Min. 1 units) → \$24 total
- Bulk Price: \$24 each (Min. 500 units) → \$12,000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 6 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents

BLUE POTTERY BOWL



Blue Pottery Bowl

MRSP: \$50

- Sample Price: \$42 each (Min. 1 units) → \$42 total
- Bulk Price: \$42 each (Min. 500 units) → \$21,000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 8 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Bowl

MRSP: \$70

- Sample Price: \$63 each (Min. 1 units) → \$63 total
- Bulk Price: \$63 each (Min. 500 units) → \$31,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 10 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Bowl

MRSP: \$120

- Sample Price: \$111 each (Min. 1 units) → \$111 total
- Bulk Price: \$111 each (Min. 500 units) \rightarrow \$55,500 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 12 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Blue Pottery Bowl

MRSP: \$50

- Sample Price: \$42 each (Min. 1 units) → \$42 total
- Bulk Price: \$42 each (Min. 500 units) → \$21,000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 8 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Bowl

MRSP: \$70

- Sample Price: \$63 each (Min. 1 units) → \$63 total
- Bulk Price: \$63 each (Min. 500 units) → \$31,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 10 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Bowl

MRSP: \$120

- Sample Price: \$111 each (Min. 1 units) → \$111 total
- Bulk Price: \$111 each (Min. 500 units) → \$55,500 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 12 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Blue Pottery Jars

MRSP: \$55

- Sample Price: \$27 each (Min. 1 units) → \$27 total
- Bulk Price: \$27 each (Min. 500 units) → \$13,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 6 Inches
- Design: Handcrafted Jar with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Vase

MRSP: \$50

- Sample Price: \$24 each (Min. 1 units) → \$24 total
- Bulk Price: \$24 each (Min. 500 units) → \$12,000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 6 Inches
- Design: Handcrafted vase with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Vase

MRSP: \$70

- Sample Price: \$33 each (Min. 1 units) → \$33 total
- Bulk Price: \$33 each (Min. 500 units) → \$16,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 8 Inches
- Design: Handcrafted vase with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Cylindrical Vase

MRSP: \$90

- Sample Price: \$42 each (Min. 1 units) → \$42 total
- Bulk Price: \$42 each (Min. 500 units) \rightarrow \$21,000 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 8 Inches
- Design: Handcrafted vase with Intricate Pattern
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Blue Pottery Bottle Vase

MRSP: \$110

- Sample Price: \$78 each (Min. 1 units) → \$78 total
- Bulk Price: \$78 each (Min. 500 units) → \$39,000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 12 Inches
- Design: Handcrafted vase with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Soap Dispenser

MRSP: \$40

- Sample Price: \$24 each (Min. 1 units) → \$24 total
- Bulk Price: \$24 each (Min. 500 units) → \$12,000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size:
- Design: Soap Dispenser with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Soap Dish

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- etalls: Motoriol
- Material: Traditional Blue Pottery Ceramic
- Size: 4 Inches
- Design: Soap Dish with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Plate

MRSP: \$40

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 4 Inches
- Design: Handcrafted bowl with Intricate Pattern
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Blue Pottery Plate

MRSP: \$60

- Sample Price: \$18 each (Min. 1 units) → \$18 total
- Bulk Price: \$18 each (Min. 500 units) → \$9000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 6 Inches
- Design: Handcrafted Jar with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Plate

MRSP: \$70

- Sample Price: \$21 each (Min. 1 units) → \$21 total
- Bulk Price: \$21 each (Min. 500 units) → \$10,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 8 Inches
- Design: Handcrafted Plate with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Plate

MRSP: \$80

- Sample Price: \$24 each (Min. 1 units) → \$24 total
- Bulk Price: \$24 each (Min. 500 units) → \$12,000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 10 Inches
- Design: Handcrafted Plate with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Plate

MRSP: \$100

- Sample Price: \$63 each (Min. 1 units) → \$63 total
- Bulk Price: \$63 each (Min. 500 units) → \$31,500 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 12 Inches
- Design: Handcrafted Plate with Intricate Pattern
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Blue Pottery Thali Plate

MRSP: \$70

- Sample Price: \$33 each (Min. 1 units) → \$33 total
- Bulk Price: \$33 each (Min. 500 units) → \$16,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 10 Inches
- Design: Handcrafted Thali with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Diya

MRSP: \$25

- Sample Price: \$3 each (Min. 1 units) → \$3 total
- Bulk Price: \$3 each (Min. 500 units) → \$1500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 3 Inches
- Design: Handcrafted Diya with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Candle & Incense Holder

MRSP: \$30

- Sample Price: \$12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 4 Inches
- Design: Candle Holder with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Coaster (Set of 6)

MRSP: \$55

- Sample Price: \$27 each (Min. 1 units) → \$27 total
- Bulk Price: \$27 each (Min. 500 units) → \$13,500 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 3.5 to 4 Inches
- $\bullet \quad {\rm Design: Handcrafted \ Coasters \ with \ Intricate \ Pattern}$
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Blue Pottery Tray MRSP: \$45

- Sample Price: \$21 each (Min. 1 units) → \$21 total
- Bulk Price: \$21 each (Min. 500 units) → \$10,500 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 6.4 Inches
- Design: Handcrafted Tray with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Round Tray

MRSP: \$60

- Sample Price: \$33 each (Min. 1 units) → \$33 total
- Bulk Price: \$33 each (Min. 500 units) → \$16,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 8 Inches
- Design: Handcrafted Tray with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Round Tray

MRSP: \$90

- Sample Price: \$45 each (Min. 1 units) → \$45 total
- Bulk Price: \$45 each (Min. 500 units) → \$22,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 10 Inches
- Design: Handcrafted Tray with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Aroma Oil Diffuser

MRSP: \$50

- Sample Price: \$24 each (Min. 1 units) → \$24 total
- Bulk Price: \$24 each (Min. 500 units) \rightarrow \$12,000 total

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: 4 to 5 Inches
- Design: Handcrafted Diffuser with Intricate Pattern
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.



Blue Pottery Glass & Pen Holder

MRSP: \$25

- Sample Price: 12 each (Min. 1 units) → \$12 total
- Bulk Price: \$12 each (Min. 500 units) → \$6000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 4 Inches
- Design: Handcrafted Glass with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Handi

MRSP: \$90

- Sample Price: \$63 each (Min. 1 units) → \$63 total
- Bulk Price: \$63 each (Min. 500 units) → \$31,500 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: 10 Inches
- Design: Handcrafted Handi with Intricate Pattern
- Colors: Shades of blue with vibrant accents



Blue Pottery Fridge Magnet

MRSP: \$20

- Sample Price: \$6 each (Min. 1 units) → \$6 total
- Bulk Price: \$6 each (Min. 500 units) → \$3000 total Details:
- Material: Traditional Blue Pottery Ceramic
- Size: Small
- Design: Handcrafted Fridge Magnet
- Colors: Shades of blue with vibrant accents



Blue Pottery fridge Magnet

MRSP: \$25

- Sample Price: \$9 each (Min. 1 units) → \$9 total
- **Bulk Price:** \$9 each (Min. 500 units) → **\$4500 total**

Details:

- Material: Traditional Blue Pottery Ceramic
- Size: Medium
- Design: Handcrafted Fridge Magnet
- Colors: Shades of blue with vibrant accents

MRSP*: MRSP is Maximum Retail Selling Price Sample & Bulk Price*: Ex-Work / Ex-Factory Price.